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SECTION -A

Each questlon carrles 1: mark

7 ,Whatdo you mean by Ilmlted l:ablhty partnershlp'?



& ann‘ther?
a3 9‘- What i is wholesale branch?

10 When will a branch keep a separate system rof aocbuni’lng‘? ot

' - s x1:
SECTION - B

Short answer type (Not to exceed 1 paragraph) Anéwér any elgﬁi q =

Each question carries 2 marks.
11. Why is departmental accounting needed?

12. How instalment system is useful?

i

What is Stock and Debtor’s system?
14. What is meant by hire purch_ase?
15. What is ‘Net hire purchase chérgeS"?

16. Which statement is to be prepared by the branch that is allowed to e
cash?

; l1 7 What is memorandum stOck account? e ¢

18. What is an independent branch? - P -_ Fian _—" e
19 What is realisation abcounﬁ ' L
20. What do you m,ean by pieca meal dlstnbutlon?
21, What s del credere eommm,,,o




SECTION - C

-. _Short Essay type (Not to exceed 120 words)' Answer any six qu ‘

Each-question carries 4 marks.

3 6isﬁngtﬁsh‘¢onsignment and sales.

Whatis Loss in transit?

~30. Write note on dependent branch.

32. Differentiate departmental accountlng and branch accounting.

33 Mumbai branch transfers goods worth Rs.50,000/- to the Kerala bre

permission |
concemed of the.heao ofﬁce Pass journal entnes in the books ofaIP';

% 34 B, ‘ Q and R are partners whose Balanoe sheet was as follows
IJabﬂmes Amount | ~ Assets

50,000 Bank
1 0, 000 Debtors




The assets are realised as follows:

Stock Rs.5,000/-, Machinery Rs.10,000/-, Furniture Rs.2,000/-,
Building Rs.8,000/-, Debtors Rs.5500/- Realisation Expenses Rs.500/-. Prepare

Land and

Realisation account.
35. Department A transferred goods at a price 50% above cost to Dept B. If closmg
stock of Dept. B is Rs.27,000, Compute the amount of stock reserve. :

36. Raja sent 50 pieces of fancy goods to Kozhikode, on which the consignee
receive 5% commission plus expense. The costs of goods were Rs.40 per piece.
The consignor paid Rs.150/- for transporting the goods and the consignee paid
Rs.150/- for taking  delivery of the goods. It was reported that the whole
consignment was sold for Rs.3 000/— Prepare consignment account. :

37. A and B were partners in a joint venture sharing profit in the ratio of 4:1
A supplies goods wdrth Rs.5,000/- by incurring an expense of Rs.400/-.
B supplies goods worth Rs.4,000/- and his expense amounts to Rs.300/-. B sells
goods on behalf of the joint venture and realises Rs.12,000/-. B is entitled to a
commission of 5% on sales. B settles his account by bank draft. Prepare joint

venture account in the books of A.

38. How will you value unsold stock in Consignment?
(6 x 4 = 24 Marks)

SECTION-D
Answer any two. Each question carries 15 marks.
39. Analyse the features and advantages of Departmental accounting

40. Discuss the features of different types of branch accounting

41. Deﬁne joint venture and analyse lts dlstlnctlons from partnershlp and

Consrgnment




42. From the following details, prepére necessary accounts showing final settler ;
% ro ‘
on the dissolution of the firm. settlement

Liabilities Amount Assets Amount |
Creditors 62,500 Building 50,000
Capital A 37,500 Stock | 50,000
S 25,000 Debtors 40,000
| C 7,500 Bank 5,000
D ' 12,500 . :

1,45,000 - 145,000

D was a minor with a right to get 1/5 th share in the profit and the remaining
partners share the balance in equal ratio. The capltal account of D represent
undrawn profit. The profit drawn by him and lying his bank account amounts to
Rs.18,750/-. The firm had taken out a palicy on the life of A, the paid up value of
which is 37,500/- on which the surrender value is Rs.25,000/-. The firm is
dissolved due to technical reason and the assets were realised as follows:
Building 25% less, stock at 80%, Debtors 20% less. Sundry creditors allowed a
~discount averaging 8% and A took over his policy at the surrender value.
Compensation to workers totalled Rs.50,000/- and the expenses amounted to
Rs.24,500/-. A bought in necessary cash to affect the payments. C is insolvent,
his estate realised 40% of what is due by him. Apply Garner Vs Murray rule.

43. A firm had two departments — cloth and ready-made dress. The Readymade
dresses were made by the firm itself out of cloth supplied by the cloth
department at its usual selling price. From the following details, prepare
Departmental Trading and Profit and Loss account. :

Particulars Cloth Dept. Ready-made Dept. ;

Opening stock 3,00,000 50,000

Purchases 20,00,000| 15,000(

Sales -~ 22,00,000 4,50,000

Transfer to ready made 3,00,000 :

Manufacturing Expenses i) 60,000

Selling Expenses 120,000 ~ 6,000

Closing Stock 2,00,000| 60,000

e '-_s_h‘ik_in the ready-made departmént may be considered as consisting _752: :lggli
ot /0 other expenses. The cloth department earned gross pl‘Oﬂt at. the b : “
1eral expense of business as a whole is amounted to R§.1,1ﬂ..0001~__ 0/ 58
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